
 

 

 

 

 

MAKING YOUR DREAMS A REALITY 

FITTING INSTRUCTIONS 

BPSY-0231 Stays, Side Cover R, Monkey 

 

 

 



Fitting Instruction BPSY-0231 Stays, Side Cover R, Monkey 

For ease of assembly, the stays BPSY-0231A & B are supplied with the bolts/clips etc.  

already fitted to their installed positions. 

 

 

 

 

 

 

 

 

 

 

 

 

1)  Remove the seat by removing the 2x M8 bolts at the front of the seat.  

 

 

BPSY-0231A 
1 



2)  Secure the stay BPSY-0231A to the frame using the M8 button head bolt. Just nip the 

bolt up finger tight at this stage.  

 

 

 

 

 

 

 

 

 

 

 

 

 

3)  Secure the stay to the plastic ‘luggage box’ using the M6 screw, washers and M6 

nylok nut. Again, just finger tight.  

2 

3a 3b 

3c 



 4)  Remove the M6 screw from the M6 clip so that we can offer up the R. Cover to check 

fit. Some adjustment may be necessary.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1)  Remove the two bolts that retain the ignition coil. 

4 

BPSY-0231B 



 

 

 

 

 

 

 

 

 

2) The stay BPSY-0231B is located atop the coil and is secured with the 2x M6 cap head 

bolts and washers provided.  

 

 

1a 1b 

2a 

2b 



 

Now offer up the R. Cover (BPCC-7142R) and check that the spigots line up 

with the rubber grommets, and that the M6 clip on the underside lines up with 

the hole in the R. Cover. 

 

 

 

 

 

 

 

 

Make adjustments to the position of BPSY-0231A if necessary, and tighten the 

bolts/screws securely. 

 

Press on the R. Cover by pushing the spigots into 

the rubber grommets, and tighten the M6 screw 

on the underside securely. 

Now you are ready to cruise the town! 

http://tyga-performance.com/index.php?cPath=72_1036_1717_1743

